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.29 tenths | 1 Find the A1 19.4cm = = mm
difference e ,
12 in grams . 2 (18+7)-(6+6)= 13
_ 1 between the ' :
2030 masses shown (4 % 1000) + (8 x 100) + (9 x 1) = 4809 |
T ox 1 by pointers '
1= % Findx. 8 x and y. ...B00g £4.00-£3.24= = p 76p
B x3)+i3x7)= 61 12 Athermometer shows —3°C. Write 41 500ml to the nearest L. 5l
10 5 5 = . The temperature then falls oy
m=>oms==m 4.5m 2 degrees lower. What is the Y 6 f132+6=ip
a temperature now? -5°C o '
84-57= iy Write $ as a decimal. . 08
3 e B 7 B Name two lines : . |
3gkm +300m = . km 2 m Akm.._30m in the rhombus : a...% b 18"
From 10.20 a.m. t¢ 12.25 p.m. which e:jr.e |
- h o min , perpendicular
| 2h - 5min toeachother. ___ AC._  BD ' :
Round 109.7 to the nearest _ 9.3cm + 6.8cm = eedBICm
whole number, 110 4 After using shampoo from a bottle :
: holding 31 300ml only 221 remained. 28+25+ 5 =74 21
(3C+5)+(18 +6) = L9 How many mi had been used? 220mt 12 Five paper bags cost £1.10 -
10 flowers cost £1.50. *5: Find the fotal cost of four magazines One bag costs & p. 22p
_Find the cost of one flower. _15p at £2.25 each and three newspapers
: at £1.50 each. f1350
Find the change k Multiply 4.3 by 10. 43
_ . from £200 after ‘ |
it Write 5km 700m to the | paying these : 18cm divided by 10 = i cm 1.8cm |
nearest kilometre. _10km | amounts. 87 . . . n
By how many centimetres is ] = 'ﬁrfﬁizﬁecrgff\?g?ﬁ;mes in the
2.4cm less than 6cm? _...3.6am ' |
g E v i a 8.00a.m. a.08:00
What fraction of 42 is 72 % -7 Find the total length of the two lines
_ in millimetres. : 122mm b 8.00 p.m. b 20:00
What must be added to £3.66 > 200 i »
to make £4.507 R4p 4 10+ 2999 = ..3009
: - 6.7cm " :
By how many is 25 minus 5 From £4 take the total of ‘
6 less than 25 pl ? . . B5. 95p
ass than 25 plus 6 12 8 Rosaarrived home at 9.50 p.m. after £1.40 and £1.65 - ele) |
Xy ' travelling for 2+ hours. At what time Three batteries cost £2.25. ‘
37.7 did she start her journey? 35 pm, Find the cost of one battery. 75p
How many times greater is i
the 7 marked x than the 7 marked y? ____ 10 % ?.O boxes of Cefea[ have a mass of 3kg. ' ' How many 50cm lengths
5 Find the mass in grams of one box. _.300g can be cut from 18m?
Increase £2.46 by £1.26. £372 _ : e
_ . 118 The bus fare to the swimming pool What is the cost of 3kg 100g :
- Find the cost of 20cm of rope at is £1.80 and children travel for if 1kg costs £1? £3.10 :
£2.00 per metre. 40p half price. Find the total bus fare : L —
) . for two adults and two children. £5.40 : : -
1 3 R What is the difference in ml
& Subtract 3 of £24 from § of £28. £9 | | tetween 21 700ml and 2580mL? 120ml
S What bor s © i M Asquare has a perimeter of ,
© What number is four less than zero? =4 1m60cm. Find the length of . 9 '
: . . : one side In centimetres. 40cm 10 of a sum of money is £2.70. c :
1 Which three coins are given in Find the sum of maoney. 300
- . change from £3 after - - - i
' . . #2 Lucille spent two-thirds of her savings i i
e LoEE A1: What number is represented by XLIV? A4
. ”sp.en.d;_r.wgfz,Sd,? ....... 10p__5p._ 1p when she bought a phone for £50. S net i S rep /
Change% to hundredths. 80 | Sofw mghch hadhshe gaved 42 Share £6 equally among eight children.
S efore the purchase: How much does each child receive? 750
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4 Write  as a decimal fraction.

Favourite colour How many
more

children
chose green
than blue as
their favourite

colour?

y x 10 = 320. What is the value of y?

Marry's brother gave him 28p to
rmake his money up fo £3.15.

How much had Harry at first? £2.87

Tm of carpet costs £3.20.

Find the cost of 1-}m. £4.00

A 2p coin is 1.8mm thick.
Find the height in millimetres
of a pile of

a ten 2ps a.....
b one hundred 2ps. b
Which of these numbers <an

be divided by 2, 3and 5
without a remainder?

15 18 20 24 30

3 Megan received three 10ps,

a 5p and a 2p in change from £1.
How much had she spent?

The line AB is drawn to scale and
* represents a distance of 2.5m.
What length is represented by Tcm?

I | I | |l
A . B

10 Find the difference between
2 of £30 and ¢ of £30. T 3

ot

The mass of three
parcels is shown
on the dial. if
they are of equal
mass, write the
mass in grams

of one parcel.

42 A school trip can be paid for in a

single payment of £27 or by 20
weekly payments of £1.50. By how
much is the total of the weekly
payments greater than the amount
of the single payment?
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.83p

0.5m
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£3.00 .




